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The given values for use in T Tp = Ty (30%)
drawing Mohr’s circle are (30,80)—¢

o, =20 MPa

o, =120 MPa Goz

7., =—80 MPa

0.=0,,=0MPa

(120,80)

a=207120_ 76 00 MPa

R=+/50"+80" =94.340 MPa

0,= ¢ = ltan‘l 80 =28.997° (CCW)

P22 50

(a) o, =70.00+94.3=164.3 MPa (T) L 61.00% e

o, =70.00-94.3 = -24.3 MPa = 24.3 MPa (C) & 29.00°...........coooorr. Ans.

Toae =7, =R =943 MPa . Ans. 1638 P N
(©)[{10% ‘Jab =70+94.340c055.995°=163.82 MPa (T) ...ceoevovrrrrinnnc. Ans.

7,, =94.3405in 5.995° = 9.85 MPa (CCW) = 9.85 MPa .......... Ans.
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